Define|

BSi,jok = C3 C4 dA; 11,01 dAj,12,r2 // dSpy // dSpp // dMyg 3k /7 A, ok /7 Ay pqi 7/

dmy, i 7/ dmy 155

Define [

BS;, K =

(t2b; t2by) // C3C4dAs 11,01 dAju12,02 // ASpq // Sy /7 Mg, 3k /7 dify, ok /7
dm qi /7 dmy qyy /7 dmy 1o /7 b2tk]

Define[tm; j, = t2b; // t2bj // dm; i, // b2t ]
Define [tA;,j,, = t2bs // dAsj, // b2t5 // b2ty ]
Define[tS; = t2b; // dS; // b2t;]
Define[tS; = t2b; // dS; // b2t;]
Define[tR;,j = Ry,j // b2t; // b2t;, tR; 5 = Ry 5 // b2t; // b2t;]
Define[tC; = C; // b2t; , tC; = C; // b2t; |
Define [tKink; = Kink; // b2t; , tKink; = Kink; // b2t;]



